Geometry  Review Practice for Ch 10  |Part2|  Spring 2020 SoLuT! °"k3>
Round to the nearest hundredth when needed unless noted otherwise

1. The given figures are similar.
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a) If the perimeter of the smaller figure is 200 in. find ther perimeter of the larger figure
mhe st 1z ¥ reri S
perimelers = Sim- fatte — B "z @";; e '")
o S
b) If the area of the biggﬁ( 'ﬁgglj_ew_ig 640 in? find the area of the smaller figure. —
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2. The figures shown are similar. -
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Find the value of x if the perimeter of the smaller figure is 32 ft and the perimter of the 40 ft.
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3. The figures shown are similar.
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Find the value of x if the area of the Ia_rggg figure is 240 /cm2 and the area of the smaller figure is 96 cm?
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4. Name the highlighted arcs in circle P. 4B is a diameter in each circle.
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5. Find the measure of each arc. 4B is a diameter in circle P.

a) mKE = 1§0-30-35  b) mEBA - (§0 +35 ) mKQE -  3wo -RE =360-//5
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6. Using the same circle as problem #5 fill in the blanks to make a true statement.

a) AK+ |~B =4EB b) EBA+ 4K = [ PBK. c) OBR-ER=_ &' E
7. Use the circle from problem #5.
a) If 4B = 8 ft.find the length b). If the length of 4K = 20 cm find m AL = 20o°
of OB to the nearest hundredth. the radius of the circle.
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8. The circumference of a circle is 40 in. Find the radius to the nearest hundredth.
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9. The radius of a circle is 50 in. Find the area to the nearest hundredth. ___. ——p
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10. The area of a circle is 275 cm?2. Find the diameter to the nearest hundredth. > ﬁzﬂ;’
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11. Use the circle from problem #5. PE = 9 ft. Find the area of the sector formed by PO, PE and él\v? to the 2
nearest hundredth. —V— ,
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12. If the area of the shaded sector in 13. Find the area of the shaded segment
circle K is 25 cm?2find the measure of in circle M to the nearest hundredth.
central angle 6 to thenearest
hundredth of a degree.
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